





**GRV for Signal Hill - LRSA NR: 16475 (GRV)**

**Receiver:** Sanette

**Checker:** Sanette

**Warehouse:** SIGNAL HILL

**Sender Ref 1:**

**Receive Date:** 2025-02-20

**WarehouseRecv:** JHB LINBRO

**Sender Ref 2:** SO157809

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
FG BR-238	DEVILS PEAK LAGER 24 X 330ML NRB	1023E5		84	2016
FG BR-238	DEVILS PEAK LAGER 24 X 330ML NRB	1023E5		84	2016
FG BR-238	DEVILS PEAK LAGER 24 X 330ML NRB	1023E5		84	2016
FG BR-238	DEVILS PEAK LAGER 24 X 330ML NRB	1023E5		84	2016
FG BR-238	DEVILS PEAK LAGER 24 X 330ML NRB	1023E5		84	2016
				2,520.00	60,480.00
<b>Total QTY Received</b>				<b>2,520.00</b>	<b>60,480.00</b>

Checked By: Sanette

Transport Company: Crystal Dawn

**Receiver:** ND763-261

**Checker:** JAMES

**Driver Signature:** Driver Left

# Signal Hill Products (PTY) LTD

## Shipment Confirmation

SRP COMPANY DETAILS:

Company Name: Epping  
 Address: 166 Gunners Circle  
 Epping 1  
 Cape Town  
 WC  
 7460  
 Phone: +27 (0) 21 203 2490  
 Email: debtors@signalhillproducts.com

SHIP TO DETAILS:

Name: LR Johannesburg  
 Delivery Address: 4 Ashworth Street  
 Linbro Park  
 Johannesburg GP  
 SOUTH AFRICA  
 Shipping Contact: 011 974 1388

SHIPMENT DETAILS:

Shipment Number: SS187618  
 Sales Order Nbr: SO157809  
 Processed Date: 18/02/2025  
 Warehouse: ADFG00  
 Customer ID:  
 Customer Name:  
 Shipment Weight: 34,020.000000  
 Ship Via: Liquor Runners SA

SHIPMENT NOTES:

NO.	ITEM ID	ITEM	UOM	QTY	LOT / SERIAL NBR	TOTAL WEIGHT
1	FG BR-238	Devil's Peak Lager - 24 x 330ml NRBs (4% ALC/VOL)	CASE	2,520.0000	1023E5	34,020.0000
2	RT PA-002	Chep Pallet - Deposit	UNIT	30.0000		0.0000

Driver:

*JAMES*

Driver Signature:

*[Signature]*

Cust Received By:

*[Signature]*

Truck Reg:

*NR63201*

Cust Signature

*[Signature]*

DPBC Packed By:

DPBC Checked By:

Date:

Total Qty:	2,550.0000
------------	------------



# Transfer OUT



4252367527

A Brambles Company

<b>From:</b> CHEP Global ID: 100990628 Address : Signal Hill Airport Building C, Golf Air Park Building C, Golf Air Park CAPE TOWN 7490 SOUTH AFRICA Tel: +270212005818 Fax:	<b>References:</b> Reference: SS187618 Other Reference: SO157809	<b>Dates :</b> Shipment Date: 18/02/2025 Effective Date: 18/02/2025 Capture Date: 18/02/2025
--	--	--

<b>Transporter:</b> Own Transport	<b>Vehicle Reg No:</b>
<b>Shipped To:</b> CHEP Global ID: 101212733 Address: Liquor Runners JHB 4 Ashworth Street, Linbro Park 15 van der Stel Street JOHANNESBURG 2090 SOUTH AFRICA Tel: +270119741385 Fax: +270119741388 (0)000000000	<b>Notes(Hand Written):</b>          <b>Created by:</b> Adams Chandre :- pp-adamschan Dispatch1@signalhillproducts.com

Equipment	Quantity
1-B1210A-1200x1000 Block Pallet	30
<b>Total</b>	<b>30</b>

<b>Shipper's Signature</b>	<b>Received By</b> <i>Alfred</i>	<b>Driver Name</b> LQR
<b>Date Received</b>	<b>Receiver's Signature and Date</b> <i>[Signature]</i> 20/02/2025	<b>Driver's Signature</b> <i>[Signature]</i>

## DELIVERIES

<b><u>DRIVER NAME:</u></b>	JAMES
<b><u>TRUCK REGISTRATION:</u></b>	ND 863-261
<b><u>COMPANY:</u></b>	CRYSTAL DAWN
<b><u>INVOICE NUMBER:</u></b>	
<b><u>DATE:</u></b>	20/02/25



## COLLECTIONS

<b><u>DRIVER NAME:</u></b>
<b><u>TRUCK REGISTRATION:</u></b>
<b><u>COMPANY:</u></b>
<b><u>INVOICE NUMBER:</u></b>
<b><u>DATE:</u></b>